

Mr. Stacy Slawinski, PE December 7, 2021

County Engineer Project No: 008032
Fort Bend County Invoice No: 1121007

Engineering Department 1517 Eugene Heimann Circle Richmond, TX 77469

Fort Bend County PO#199020

Project Name: 2020 Project Management Services

Project No. 20001x,

Total contract amount \$1,000,000.00

### For Professional Services rendered from October 30, 2021 to November 26, 2021:

20201 - Lake Olympia Parkway (17201)

#### **Professional Personnel**

		Hours	Rate	Amount	
Project Manager					
Odreman, Gabriel	11/9/2021	3.00	205.00	615.00	
Kickoff meeting for Ca	rey Chase project				
Odreman, Gabriel	11/15/2021	1.00	205.00	205.00	
Meeting with Ike to go	over funding for 20219x				
Totals		4.00		820.00	
Total Labor					820.00
					\$820.00

## 20202 - Chimney Rock (17202)

### **Professional Personnel**

		Hours	Rate	Amount	
Senior Project Manager					
Gant, Patrick	11/9/2021	2.00	240.00	480.00	
Attended meeting with Parkway Tollroad entra	FBC to discuss the propose ance ramp from BW 8	ed Southbound Fo	rt Bend		
Gant, Patrick	11/19/2021	1.00	240.00	240.00	
Associate Engineer					
Richardson, Mark	11/9/2021	.50	130.00	65.00	
Evaluation of project le	ocation and determination o	f precinct respons	ibility		
Totals		3.50		785.00	
Total Labor	<b>*</b> [3				785.00
					\$785.00

#### 20203 - Bates Lane

#### **Professional Personnel**

		Hours	Rate	Amount
Senior Project Manager				
Gant, Patrick	11/23/2021	4.00	240.00	960.00
Evergreen Field Visit				
Project Manager				
Odreman, Gabriel	11/5/2021	3.00	205.00	615.00
Project scoping on Eversg	reen rds for project mone	y transfer		

Project	008032	Fort Bend County 2020 N	Mobility Bond		Invoice	1121007
	Odreman, Gabriel	11/12/2021	4.00	205.00	820.00	
	Evergreen sideroads	scoping				
	Odreman, Gabriel	11/18/2021	2.00	205.00	410.00	
	Scoping of sideroad	to evergreen				
	Odreman, Gabriel	11/24/2021	3.00	205.00	615.00	
	Project scoping					
Ass	sociate Engineer					
	Richardson, Mark	11/9/2021	.50	130.00	65.00	
	Evaluation of project	t location and determination of p	recinct respons	ibility		
	Richardson, Mark	11/23/2021	4.00	130.00	520.00	
	Project site visit for a	new Evergreen side road projects	s replacing Bate	es		
	Totals		20.50		4,005.00	
	Total Lab	oor				4,005.00
						\$4,005.00

# 20205 - Blueridge Road Widening

## **Professional Personnel**

		Hours	Rate	Amount	
Project Manager					
Griffin, Jonathan	11/2/2021	.50	205.00	102.50	
Modify Program Estima	te				
Odreman, Gabriel	11/2/2021	1.00	205.00	205.00	
Proposal for change orde	er review and communication	on with consultar	nt		
Odreman, Gabriel	11/4/2021	1.00	205.00	205.00	
Proposal for change order	er review and communicati	on with consultar	nt		
Odreman, Gabriel	11/11/2021	2.00	205.00	410.00	
Change order proposal r	eview and coordination				
Odreman, Gabriel	11/18/2021	1.00	205.00	205.00	
Following up with Kick	off meeting schedule from	FCM			
Associate Engineer					
Richardson, Mark	11/4/2021	1.00	130.00	130.00	
Coordination with consu determination of new da	ultant for revision to contractes	ct for revised scop	pe and		
Richardson, Mark	11/9/2021	2.00	130.00	260.00	
	altant on updated proposal a on of precinct responsibility		project		
Richardson, Mark	11/22/2021	1.00	130.00	130.00	
Follow up with consulta	nt on kick off meeting				
Totals		9.50		1,647.50	
Total Labor					1,647.50
					\$1,647.50

# 20206 - Sienna Parkway Intersections

## **Professional Personnel**

	Amount	Rate	Hours		
					Associate Engineer
	65.00	130.00	.50	11/9/2021	Richardson, Mark
		ısibility	n of precinct respor	oject location and determination	Evaluation of projec
	65.00		.50	3	Totals
65.00				Labor	Total Lal
\$65.00					

20207 - Sienna Ranch

Project	008032	Fort Bend County 2020	Mobility Bond		Invoice	1121007
Profession	nal Personnel					
			Hours	Rate	Amount	
Projec	ct Manager					
(	Odreman, Gabriel	11/5/2021	1.00	205.00	205.00	
	Proposal folow up					
	ciate Engineer					
F	Richardson, Mark	11/9/2021	.50	130.00	65.00	
		ocation and determination of		-		
ŀ	Richardson, Mark	11/12/2021	1.00	130.00	130.00	
	Totals	sultant and uploading to mas	2.50		400.00	
	Total Labo		2.30		400.00	400.00
	Total Labo	r				400.00
						\$400.00
20208 - Tr	rammel Fresno					
Profession	nal Personnel					
			Hours	Rate	Amount	
Projec	ct Manager					
(	Griffin, Jonathan	11/16/2021	1.00	205.00	205.00	
	Review Proposal					
(	Odreman, Gabriel	11/5/2021	1.00	205.00	205.00	
	Proposal folow up	11/11/2021	2.00	205.00	410.00	
(	Odreman, Gabriel	11/11/2021	2.00	205.00	410.00	
	Proposal review Odreman, Gabriel	11/19/2021	2.00	205.00	410.00	
(	Proposal review and n	11/18/2021	2.00	205.00	410.00	
(	Odreman, Gabriel	11/23/2021	2.00	205.00	410.00	
,	Proposal review and no		2.00	203.00	410.00	
Assoc	ciate Engineer	egottations				
	Richardson, Mark	11/4/2021	1.00	130.00	130.00	
	Follow up on proposal					
F	Richardson, Mark	11/9/2021	.50	130.00	65.00	
	Evaluation of project l	ocation and determination of	f precinct respons	ibility		
	Totals		9.50		1,835.00	
	Total Labo	r				1,835.00
						\$1,835.00
20209 - W	atts Plantation Road					
Profession	nal Personnel					
			Hours	Rate	Amount	
Projec	ct Manager					
	Odreman, Gabriel	11/4/2021	2.00	205.00	410.00	
	* Monthly meeting wi					
	* Check on typical sec		1.00	205.00	205.00	
(	Odreman, Gabriel Follow up with project	11/18/2021	1.00	205.00	205.00	
Assoc	ciate Engineer	t design				
	Richardson, Mark	11/9/2021	.50	130.00	65.00	
		ocation and determination of			05.00	
	Totals		3.50		680.00	
	Total Labo	r				680.00
						\$680.00
						\$680.00

20210 - Winkleman & Castlegate Dr

Project 008032	Fort Bend County 2020 M	Iobility Bond		Invoice	1121007
Professional Personnel					
		Hours	Rate	Amount	
Project Manager					
Odreman, Gabriel	11/5/2021	1.00	205.00	205.00	
Proposal folow up	11/10/2021	2.00	205.00	410.00	
Odreman, Gabriel	11/18/2021	2.00	205.00	410.00	
Proposal review and proposal Odreman, Gabriel	11/24/2021	2.00	205.00	410.00	
Associate Engineer	11/24/2021	2.00	203.00	410.00	
Richardson, Mark	11/4/2021	1.00	130.00	130.00	
Follow up on proposal	11/4/2021	1.00	130.00	150.00	
Richardson, Mark	11/9/2021	.50	130.00	65.00	
	ation and determination of p				
Richardson, Mark	11/12/2021	1.50	130.00	195.00	
Proposal review and coo	rdination with consultant				
Richardson, Mark	11/22/2021	.50	130.00	65.00	
Final proposal comments	s and review				
Totals		8.50		1,480.00	
Total Labor					1,480.00
					\$1,480.00
					\$1,400.00
Project Management					
Professional Personnel					
Frotessional Personner		**	D /		
Duniant Managan		Hours	Rate	Amount	
Project Manager Griffin, Jonathan	11/2/2021	2.00	205.00	410.00	
,	uss project status & review P			410.00	
Griffin, Jonathan	11/9/2021	4.00	205.00	820.00	
*	mp - Meeting with BGE and		203.00	020.00	
Totals	inp - Meeting with BOE and	6.00		1,230.00	
Total Labor		0.00		1,200.00	1,230.00
					\$1,230.00
Masterworks					
Professional Personnel					
		Hours	Rate	Amount	
Project Manager					
Odreman, Gabriel	11/4/2021	2.00	205.00	410.00	
Data entry in MW for m		2.00	205.00	410.00	
Odreman, Gabriel	11/11/2021	2.00	205.00	410.00	
Data entry Associate Engineer					
Edwards, Katlyn	11/3/2021	.50	130.00	65.00	
uploaded meeting minute		.50	130.00	05.00	
Edwards, Katlyn	11/4/2021	.50	130.00	65.00	
uploading invoice	11/4/2021	.50	130.00	05.00	
Edwards, Katlyn	11/5/2021	1.00	130.00	130.00	
uploading invoice and ot					
Edwards, Katlyn	11/9/2021	1.50	130.00	195.00	
uploaded invoices, cmt p	proposals, and PO				
Edwards, Katlyn	11/11/2021	1.00	130.00	130.00	
create budget estimate ar	nd PO				
Edwards, Katlyn	11/15/2021	1.00	130.00	130.00	
uploaded invoices, PO's					
Edwards, Katlyn	11/16/2021	1.00	130.00	130.00	
uploaded po, invoice, an	nendments and permits				

Project	008032	Fort Bend County	2020 Mobility	Bond		Invoice	1121007
	Edwards, Katlyn	11/17/2021		.50	130.00	65.00	
	budget revision						
	Edwards, Katlyn	11/18/2021		1.00	130.00	130.00	
	po amendment						
	Edwards, Katlyn	11/22/2021		1.50	130.00	195.00	
	upload invoices, PO's, an	nendments					
	Totals		1	3.50		2,055.00	
	Total Labor						2,055.00
							\$2,055.00
Recap:			Current		Previous	To-Date	
Tot	al Billings		15,002.50		175,854.09	190,856.59	
	Contract Amount					1,000,000.00	
	Balance					809,143.41	
					<b>Total Due This</b>	Invoice:	\$15,002.50

Remit Payment: RPS Infrastructure, Inc. 575 N. Dairy Ashford, Suite 700, Houston, Texas, 77079 T: (281) 589-7257 -

Project	008032	Fort Bend County 2	2020 Mobility Bond		Invoice	1121007
Billin	g Backup				Wednesday	, January 19, 202
	tructure Inc. (Live)		Invoice 1121007 Date	ed 12/7/2021	,	4:22:21 PN
Professiona	al Personnel					
			Hours	Rate	Amount	
Project Man	-		2.00	205.00		
	6 - Odreman, Gabriel	11/9/2021	3.00	205.00	615.00	
	Kickoff meeting for Car 6 - Odreman, Gabriel	11/15/2021	1.00	205.00	205.00	
	Meeting with Ike to go			203.00	203.00	
	Totals	C	4.00		820.00	
	Total Labor					820.0
						\$820.0
Professiona	al Personnel					
			Hours	Rate	Amount	
Senior Proje	ect Manager		• • •		400.00	
	5 - Gant, Patrick	11/9/2021	2.00	240.00	480.00	
	Attended meeting with I Parkway Tollroad entra		posed Southbound Fo	ort Bend		
	5 - Gant, Patrick	11/19/2021	1.00	240.00	240.00	
Associate E	ngineer					
	20 - Richardson, Mark	11/9/2021	.50	130.00	65.00	
	Evaluation of project lo	cation and determination		sibility	705.00	
	Totals <b>Total Labor</b>		3.50		785.00	705.0
	Total Labor					785.00
						\$785.0
Professiona	al Personnel					
			Hours	Rate	Amount	
enior Proje	ect Manager					
	5 - Gant, Patrick	11/23/2021	4.00	240.00	960.00	
	Evergreen Field Visit					
roject Man			• • • •			
	6 - Odreman, Gabriel	11/5/2021	3.00	205.00	615.00	
	Project scoping on Ever 6 - Odreman, Gabriel	11/12/2021	4.00	205.00	820.00	
	Evergreen sideroads sco		1.00	200.00	020.00	
	6 - Odreman, Gabriel	11/18/2021	2.00	205.00	410.00	
	Scoping of sideroad to e	evergreen				
	6 - Odreman, Gabriel	11/24/2021	3.00	205.00	615.00	
	Project scoping					
	ingineer 20 - Richardson, Mark	11/9/2021	.50	130.00	65.00	
Associate E	zu = reichardson, iviatk				05.00	
Associate E			-	130.00	520.00	
Associate E	Evaluation of project location 20 - Richardson, Mark	11/23/2021	4.00	130.00		
Associate E	Evaluation of project lo	11/23/2021			220.00	
Associate E	Evaluation of project lo 20 - Richardson, Mark Project site visit for new Totals	11/23/2021			4,005.00	
Associate E	Evaluation of project lo 20 - Richardson, Mark Project site visit for new	11/23/2021	projects replacing Bat			4,005.0

	008032	Fort Bend County 2020	Mobility Bond		Invoice	1121007
Profession	al Personnel					
			Hours	Rate	Amount	
Project Ma	nager 6 - Griffin, Jonathan	11/2/2021	50	205.00	102.50	
	,	11/2/2021	.50	205.00	102.50	
	Modify Program Estimate 6 - Odreman, Gabriel	11/2/2021	1.00	205.00	205.00	
	Proposal for change order				203.00	
	6 - Odreman, Gabriel	11/4/2021	1.00	205.00	205.00	
	Proposal for change order				203.00	
	6 - Odreman, Gabriel	11/11/2021	2.00	205.00	410.00	
	Change order proposal rev		2.00	200.00	410.00	
	6 - Odreman, Gabriel	11/18/2021	1.00	205.00	205.00	
	Following up with Kick of					
Associate E	• .					
	20 - Richardson, Mark	11/4/2021	1.00	130.00	130.00	
	Coordination with consult determination of new date		ct for revised sco	pe and		
	20 - Richardson, Mark	11/9/2021	2.00	130.00	260.00	
	Coordination with consultation and determination	ant on updated proposal	and evaluation of			
	20 - Richardson, Mark	11/22/2021	1.00	130.00	130.00	
	Follow up with consultant	on kick off meeting				
	Totals		9.50		1,647.50	
	Total Labor					1,647.5
						\$1,647.5
£i	al Barrann al					42,01110
	al Personnel		Hours	Rate	Amount	
	Engineer					,
	Engineer 20 - Richardson, Mark	11/9/2021	.50	130.00	Amount	
	Engineer 20 - Richardson, Mark Evaluation of project locat		.50 f precinct respons	130.00	65.00	
	Engineer 20 - Richardson, Mark Evaluation of project locat Totals		.50	130.00		
	Engineer 20 - Richardson, Mark Evaluation of project locat		.50 f precinct respons	130.00	65.00	
	Engineer 20 - Richardson, Mark Evaluation of project locat Totals		.50 f precinct respons	130.00	65.00	65.0
Associate I	Engineer 20 - Richardson, Mark Evaluation of project locat Totals		.50 f precinct respons .50	130.00	65.00	65.0 \$65.0
Associate E	Engineer 20 - Richardson, Mark Evaluation of project local Totals Total Labor		.50 f precinct respons	130.00	65.00	65.0
Associate E	Engineer 20 - Richardson, Mark Evaluation of project locat Totals Total Labor  al Personnel	ion and determination o	.50 f precinct respons .50	130.00 ibility	65.00 65.00 Amount	65.0
Associate F Profession	Engineer 20 - Richardson, Mark Evaluation of project locat Totals Total Labor  al Personnel  nager 6 - Odreman, Gabriel Proposal folow up		.50 f precinct respons .50	130.00 ibility	65.00 65.00	65.0
Associate F Profession	Engineer 20 - Richardson, Mark Evaluation of project locat Totals Total Labor  al Personnel  nager 6 - Odreman, Gabriel Proposal folow up Engineer	ion and determination o	.50 f precinct respons .50 Hours	130.00 ibility  Rate 205.00	65.00  65.00  Amount 205.00	65.0
Associate F Profession	Engineer 20 - Richardson, Mark Evaluation of project locat Totals Total Labor  al Personnel  nager 6 - Odreman, Gabriel Proposal folow up Engineer 20 - Richardson, Mark	11/5/2021 11/9/2021	.50 f precinct respons .50  Hours 1.00	130.00 ibility  Rate 205.00	65.00 65.00 Amount	65.0
Associate F Profession	Engineer 20 - Richardson, Mark Evaluation of project local Totals Total Labor  al Personnel  nager 6 - Odreman, Gabriel Proposal folow up  Engineer 20 - Richardson, Mark Evaluation of project local	11/5/2021 11/9/2021 ion and determination o	.50 f precinct respons .50  Hours 1.00 .50 f precinct respons	130.00 ibility  Rate 205.00  130.00 ibility	65.00  Amount 205.00	65.0
Associate F Profession	Engineer  20 - Richardson, Mark Evaluation of project local Totals Total Labor  al Personnel  nager 6 - Odreman, Gabriel Proposal folow up Engineer 20 - Richardson, Mark Evaluation of project local 20 - Richardson, Mark	11/5/2021  11/9/2021  ion and determination o 11/12/2021	.50 f precinct respons .50  Hours 1.00 .50 f precinct respons 1.00	130.00 ibility  Rate 205.00	65.00  65.00  Amount 205.00	65.0
Associate I	Engineer 20 - Richardson, Mark Evaluation of project local Totals Total Labor  al Personnel  nager 6 - Odreman, Gabriel Proposal folow up  Engineer 20 - Richardson, Mark Evaluation of project local	11/5/2021  11/9/2021  ion and determination o 11/12/2021	.50 f precinct respons .50  Hours 1.00 .50 f precinct respons 1.00	130.00 ibility  Rate 205.00  130.00 ibility	65.00  Amount 205.00	65.0

\$400.00

Project	008032	Fort Bend County 202	0 Mobility Bond		Invoice	1121007
Profession	al Personnel					
			Hours	Rate	Amount	
Project Ma	nager					
	6 - Griffin, Jonathan	11/16/2021	1.00	205.00	205.00	
	Review Proposal					
	6 - Odreman, Gabriel	11/5/2021	1.00	205.00	205.00	
	Proposal folow up					
	6 - Odreman, Gabriel	11/11/2021	2.00	205.00	410.00	
	Proposal review					
	6 - Odreman, Gabriel	11/18/2021	2.00	205.00	410.00	
	Proposal review and neg	otiations				
	6 - Odreman, Gabriel	11/23/2021	2.00	205.00	410.00	
	Proposal review and neg	otiations				
ssociate I	Engineer					
İ	20 - Richardson, Mark	11/4/2021	1.00	130.00	130.00	
	Follow up on proposal a	nd review				
	20 - Richardson, Mark	11/9/2021	.50	130.00	65.00	
	Evaluation of project loc	cation and determination of	of precinct respons	sibility		
	Totals		9.50		1,835.00	
	Total Labor					1,835.00
						\$1,835.00
						\$1,055.00
ofession	al Personnel					
			Hours	Rate	Amount	
ject Ma						
	6 - Odreman, Gabriel	11/4/2021	2.00	205.00	410.00	
	* Monthly meeting with * Check on typical section					
	6 - Odreman, Gabriel	11/18/2021	1.00	205.00	205.00	
	,		1.00	203.00	205.00	
anninta T	Follow up with project of	lesign				
sociate i	Engineer 20 - Richardson, Mark	11/0/2021	50	120.00	65.00	
		11/9/2021	.50	130.00	65.00	
		cation and determination of		sibility	690.00	
	Totals		3.50		680.00	COO 00
	Total Labor					680.00
						\$680.00
rofossion	al Personnel					
. oressiuli	visvantti		Hours	Rate	Amount	
roject Ma	nager		110415	Kate	Amount	
oject Ma	6 - Odreman, Gabriel	11/5/2021	1.00	205.00	205.00	
	Proposal follow up	11/5/2021	1.00	200.00	205.00	
	6 - Odreman, Gabriel	11/18/2021	2.00	205.00	410.00	
	Proposal review and pro		2.00	203.00	410.00	
	6 - Odreman, Gabriel	11/24/2021	2.00	205.00	410.00	
ssociate I		11/27/2021	2.00	205.00	710.00	
Sociate 1	20 - Richardson, Mark	11/4/2021	1.00	130.00	130.00	
	Follow up on proposal	11/7/2021	1.00	150.00	130.00	
	20 - Richardson, Mark	11/9/2021	.50	130.00	65.00	
		cation and determination of			05.00	
	20 - Richardson, Mark	11/12/2021	1.50	130.00	195.00	
	,	rdination with concultant	1.50	150.00	193.00	

.50

130.00

65.00

Proposal review and coordination with consultant 20 - Richardson, Mark 11/22/2021

roject	008032	Fort Bend County 202	0 Mobility Bond		Invoice	1121007
	Final proposal comments and review					
	Totals		8.50		1,480.00	
	Total Lab	bor				1,480.00
						\$1,480.00
						•
ofessiona	al Personnel					
			Hours	Rate	Amount	
ject Mar	nager					
	6 - Griffin, Jonathan	11/2/2021	2.00	205.00	410.00	
	Internal Meeting to	discuss project status & review	v PER package for	r 20219x		
	6 - Griffin, Jonathan	11/9/2021	4.00	205.00	820.00	
	20219x Carey Chase	e Ramp - Meeting with BGE a	and PER Meeting			
	Totals		6.00		1,230.00	
	Total Lab	bor				1,230.00
						\$1,230.00
ofessiona	al Personnel					
			Hours	Rate	Amount	
ject Mar	-	11/4/2021	2.00	205.00	410.00	
	6 - Odreman, Gabrie		2.00	205.00	410.00	
	Data entry in MW fo		2.00	205.00	410.00	
	6 - Odreman, Gabrie	el 11/11/2021	2.00	205.00	410.00	
ociata E	Data entry					
sociate Engineer 9 - Edwards, Katlyn 11/3/2021		.50	130.00	65.00		
	uploaded meeting m		.50	130.00	05.00	
	9 - Edwards, Katlyn		.50	130.00	65.00	
	uploading invoice	11/4/2021	.50	130.00	05.00	
	9 - Edwards, Katlyn	11/5/2021	1.00	130.00	130.00	
	uploading invoice a		1.00	150.00	150.00	
	9 - Edwards, Katlyn		1.50	130.00	195.00	
		emt proposals, and PO	1.50	20100	155.00	
	9 - Edwards, Katlyn		1.00	130.00	130.00	
	create budget estima				120.00	
	9 - Edwards, Katlyn		1.00	130.00	130.00	
	uploaded invoices, F					
	9 - Edwards, Katlyn		1.00	130.00	130.00	
		e, amendments and permits				
	9 - Edwards, Katlyn		.50	130.00	65.00	
	budget revision					
	9 - Edwards, Katlyn	11/18/2021	1.00	130.00	130.00	
	po amendment					
	9 - Edwards, Katlyn	11/22/2021	1.50	130.00	195.00	
	upload invoices, PO	's, amendments				
	Totals		13.50		2,055.00	
	Total Lab	bor				2,055.00
						\$2,055.00
						\$15,002.50

\$15,002.50

**Total this Report**